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Fsa= 2.00 (EH. A&3&%
tpa= 49 kN/m
tca= 126 kN/m
ta= 49 kN/m
w= 0.2 (=227 V— FRAH)
T2pa= 108 kN/7A
Tsa= 101 kN/ZA
Tlpa= 49 kN/ A&
Tpa= 49 kN/ 7
A= 0.70
Td= 34 kN/Z
S2= 8.9 kN
S3= 19. 2 kN
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SD345
D 25 (fEY%E - D19~D25)
Sa= 5.067 cmi /7
0 sa= 200 N/mnt
T sa= 200 N/mnt
1.0 (RBE, &KA)
Lh= 1.50 m
Lv= 1.03 m
Hs= 11.0m
Ns= 11 A&
Da= 65 mm (FEHE)
L= 3.0 m
L2= 2.5m
L1= 0.5m
24 N/mnt
TCc= 1.6 N/mni
Tp= 0.48 N/mni
Fsa= 2.00 (EH. A&3&%
tpa= 49 kN/m
tca= 126 kN/m
ta= 49 kN/m
w= 0.2 (=227 V— FRAH)
T2pa= 122 kN/A
Tsa= 101 kN/ZA
Tlpa= 31 kN/A&
Tpa= 31 kN/#
A= 0.70
Td= 22 kN/ 7=
S2= 5.6 kN
S3= 12. 0 kN
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SD345
D 25 (fEY%E - D19~D25)
Sa= 5.067 cmi /7
0 sa= 200 N/mnt
T sa= 200 N/mnt
1.0 (RBE, &KA)
Lh= 1.50 m
Lv= 1.03 m
Hs= 11.0m
Ns= 11 A&
Da= 65 mm (FEHE)
L= 3.0 m
L2= 2.8 m
L1= 0.2m
24 N/mnt
TCc= 1.6 N/mni
Tp= 0.48 N/mni
Fsa= 2.00 (EH. A&3&%
tpa= 49 kN/m
tca= 126 kN/m
ta= 49 kN/m
w= 0.2 (=227 V— FRAH)
T2pa= 137 kN/A
Tsa= 101 kN/ZA
Tlpa= 12 kN/A
Tpa= 12 kN/#=
A= 0.70
Td= 9 kN/A
S2= 2.2 kN
S3= 4.8 kN
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versi)
ERRIX Sy
ERVALNT EER -y y = 21 kN/m®
PR R 1 £ 6= 30.00 °
VR =) c= 0 kN/ndi
BEE R f= 0.58
oy Z RV ERYEDIRT A Bl= 1.6 rad
B2= 1.3 rad
FHE & Fs= 1.2
W FT (ZEFHERERE L D) Pr=  539.26 kN/m
vy 7 ARV R AKEST A FT R E B H= 1.2 m
Mg SD345
&S D 25
ny 7RV EILE L=2.0~5.0 m
Ik f s KT &s1°
Er ¥ Flik | #E4EhH 7t _
1 0.0 31.5] 25.19 kN
2 0.0 31.5] 25.19 kN
3 0.0 31.5] 25.19 kN
4 0.0 31.5] 25.19 kN
5 0.0 31.5] 25.19 kN
6 0.0 31.5] 25.19 kN —
7 0.0 31.5] 25.19 kN
8 0.0 31.5] 25.19 kN
9 0.0 31.5] 25.19 kN
10 0.0 31.5] 25.19 kN
11 0.0 31.5] 25.19 kN ]
12 0.0 41.0| 40.96 kN
13 0.0 41.0| 40.96 kN
14 18.4 39.6] 57.92 kN
15 18.4 39.6] 57.92 kN
16 18.4 39.6] 57.92 kN
17 18.4 39.6] 57.92 kN
18 15. 6 33.5] 49.09 kN
19 12.2 26.4| 38.58 kN
20 8.9 19.2] 28.08 kN
&k 706.49 kN
XIS 2 E 8 L /- B iiE
539.26 X 1.2 = 647.112 <

90 ° 1~13EtH
75° 14~20B: H

KEFTRE IR L. SmfERR
(1 F1x1.2/1.5)

706. 49 + 0K
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SD345

Sa=
0sa=

T sa—

TCc=
Tp=
Fsa=
tpa=
tca=
ta

T2pa=
Tsa=
Tlpa=
Tpa=

Td=

S2=
S3=

25  (#=%E : D19~D25)

5. 067 cui/A<

200 N/mnd
200 N/mni
L0 (k. &KA)
1.20 m
1.03 m
22.5m
20 A
65 mm (FEH4E)
3.0 m
1.6m
1.4m
24 N/mm
1.6 N/mni
0. 48 N/mnt
2.0 (RBH, A&
49 kN/m
126 kN/m
49 kN/m
0.2 (27 U— FIRAD
78 kN/7A=
101 kN/A
86
78 KN/ A
0.70
55 kN/Z<

0.0 kN
31.5 kN

3.2-25




oy 7R (1 2ER)
ME
7%
ISR I FE
TFRBIRIG ) E
PR AT IS
HRISSIEDOEH L
K5 a1 [ b
SATE T 171 [ [
g EBog S
ENE T TR A S
HIFLER
oy 7R NEILE
EERE
BETHOANEEERE
M BRETAAYESRE

TFEMNEISD

A R ) T R PR L
F FHEZER
il & EAM OFFATE S
BRI L TEAM OFFENE S
TRAE T
@ v 1 TR
Sk & IHH
B O SIES
B8 500 52T B 814k X B0 H
FrRA TR )
51 3E SRR %L
A AT D EIEN

ZERTAE (GIRMM) 1A
HisREs 5l
ARw)

SD345
D
Sa=
0 sa=

T sa—

Lh=
Lv=
Hs=
Ns=
Da=
L=
L2=
L1=

Tc=
Tp=
Fsa=
tpa=
tca=
ta=
u=
T2pa=
Tsa=
Tlpa=
Tpa=
1=
Td=

S3=

25  (fm#E : D19~D25)
5.067 cnf/7A

200 N/mnt

200 N/mni

L0 (k. &KA)
1.20 m

1.03 m

22.5m

20 A

65 mm (FEH4E)
5.0 m

2.2m

2.8 m

24 N/mmi

1.6 N/mni

0.48 N/mm

2.00  (E#., A&
49 kN/m
126 kN/m
49 kN/m
0.2 (=27 U— MRAT)
106 kN/A
101 kN/A
174
101 kN/A
0.70
71 kN/A

0.0 kN
41.0 kN
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SD345
D 25  (f=#E . D19~D25)
Sa= 5.067 cmi/7AR
o sa= 200 N/mnt
T sa= 200 N/mnt
1.0 ORE%, &KA)
Lh= 1.20 m
Lv= 1.03 m
Hs= 22.5m
Ns= 20 &
Da= 65 mm (FE#E)
L= 5,0 m
L2= 2.2 m
L1= 2.8 m
24 N/mnd
Tec= 1.6 N/mni
Tp= 0.48 N/mni
Fsa= 2.00 (EH, A%
tpa= 49 kN/m
tca= 126 kN/m
ta= 49 kN/m
= 0.2 (=7 J— MRAH)
T2pa= 106 kN/A<
Tsa= 101 kN/ZA
Tlpa= 174 kN/A
Tpa= 101 kN/ A
A= 0.70
Td= 71 kN/A
S2= 0.0 kN
S3= 41.0 kN
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D 25 (f=¥#E : D19~D25)
Sa= 5.067 cmi /A
osa= 200 N/mnt
Tsa= 200 N/mnt
1.0 ORE%., A&KA)
Lh= 1.20 m
Lv= 1.03 m
Hs= 22.5m
Ns= 20 A
Da= 65 mm (FEE)
L= 5.0 m
L2= 2.3 m
L1= 2.7m
24 N/mni
Tc= 1.6 N/mnd
Tp= 0.48 N/mni
Fsa= 2.00 (EH. &%
tpa= 49 kN/m
tca= 126 kN/m
ta= 49 kN/m
w= 0.2 (=227 U— RhIkfD)
T2pa= 115 kN/A
Tsa= 101 kN/A
Tlpa= 163
Tpa= 101 kN/A&
A= 0.70
Td= 71 kN/A
S2= 18.4 kN
S3= 39.6 kN
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SD345
D 25 (JE#E . D19~D25)
Sa= 5.067 cmi /7
0 sa= 200 N/mnt
T sa= 200 N/mnt
1.0 (&%, &A)
Lh= 1.20 m
Lv= 1.03 m
Hs= 22.5m
Ns= 20 K
Da= 65 mm (FEE)
L= 5.0 m
L2= 2.7m
L1= 2.3m
24 N/mnt
TCc= 1.6 N/mni
Tp= 0.48 N/mni
Fsa= 2.00 (EH. A%
tpa= 49 kN/m
tca= 126 kN/m
ta= 49 kN/m
n= 0.2 (=27 U — FRAD)
T2pa= 132 kN/A
Tsa= 101 kN/A
Tlpa= 141 kN/K
Tpa= 101 kN/A
A= 0.70
Td= 71 kN/ 7
S2= 18. 4 kN
S3= 39. 6 kN
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SD345
D 25 (JE#E . D19~D25)
Sa= 5.067 cmi /7
0 sa= 200 N/mnt
T sa= 200 N/mnt
1.0 (&%, &A)
Lh= 1.20 m
Lv= 1.03 m
Hs= 22.5m
Ns= 20 K
Da= 65 mm (FEE)
L= 5.0 m
L2= 3.0m
L1= 2.0m
24 N/mnt
TCc= 1.6 N/mni
Tp= 0.48 N/mni
Fsa= 2.00 (EH. A%
tpa= 49 kN/m
tca= 126 kN/m
ta= 49 kN/m
n= 0.2 (=27 U — FRAD)
T2pa= 147 kKN/A
Tsa= 101 kN/A
Tlpa= 123 kN/AK
Tpa= 101 kN/A
A= 0.70
Td= 71 kN/ 7
S2= 18. 4 kN
S3= 39. 6 kN
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SD345
D 25 (JE#E . D19~D25)
Sa= 5.067 cmi /7
0 sa= 200 N/mnt
T sa= 200 N/mnt
1.0 (&%, &A)
Lh= 1.20 m
Lv= 1.03 m
Hs= 22.5m
Ns= 20 K
Da= 65 mm (FEE)
L= 4.0 m
L2= 2.3 m
L1= 1.7m
24 N/mnt
TCc= 1.6 N/mni
Tp= 0.48 N/mni
Fsa= 2.00 (EH. A%
tpa= 49 kN/m
tca= 126 kN/m
ta= 49 kN/m
n= 0.2 (=27 U — FRAD)
T2pa= 113 kN/A
Tsa= 101 kN/A
Tlpa= 104 kN/A&
Tpa= 101 kN/A
A= 0.70
Td= 71 kN/ 7
S2= 18. 4 kN
S3= 39. 6 kN
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SD345
D 25 (JE#E . D19~D25)
Sa= 5.067 cmi /7
0 sa= 200 N/mnt
T sa= 200 N/mnt
1.0 (&%, &A)
Lh= 1.20 m
Lv= 1.03 m
Hs= 22.5m
Ns= 20 K
Da= 65 mm (FEE)
L= 4.0 m
L2= 2.6m
L1= 1.4m
24 N/mnt
TCc= 1.6 N/mni
Tp= 0.48 N/mni
Fsa= 2.00 (EH. A%
tpa= 49 kN/m
tca= 126 kN/m
ta= 49 kN/m
n= 0.2 (=27 U — FRAD)
T2pa= 127 kN/A
Tsa= 101 kN/A
Tlpa= 86 kN/A&
Tpa= 86 kN/ 7
A= 0.70
Td= 60 kN/ 7
S2= 15. 6 kN
S3= 33.5 kN
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SD345
D 25 (JE#E . D19~D25)
Sa= 5.067 cmi /7
0 sa= 200 N/mnt
T sa= 200 N/mnt
1.0 (&%, &A)
Lh= 1.20 m
Lv= 1.03 m
Hs= 22.5m
Ns= 20 K
Da= 65 mm (FEE)
L= 3.0 m
L2= 1.9m
L1= 1.1m
24 N/mnt
TCc= 1.6 N/mni
Tp= 0.48 N/mni
Fsa= 2.00 (EH. A%
tpa= 49 kN/m
tca= 126 kN/m
ta= 49 kN/m
n= 0.2 (=27 U — FRAD)
T2pa= 93 kN/AK
Tsa= 101 kN/A
Tlpa= 68 kN/ A&
Tpa= 68 kN/ 7
A= 0.70
Td= 47 kN/ 7=
S2= 12. 2 kN
S3= 26. 4 kN
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SD345
D 25 (JE#E . D19~D25)
Sa= 5.067 cmi /7
0 sa= 200 N/mnt
T sa= 200 N/mnt
1.0 (&%, &A)
Lh= 1.20 m
Lv= 1.03 m
Hs= 22.5m
Ns= 20 K
Da= 65 mm (FEE)
L= 2.0 m
L2= 1.2 m
L1= 0.8m
24 N/mnt
TCc= 1.6 N/mni
Tp= 0.48 N/mni
Fsa= 2.00 (EH. A%
tpa= 49 kN/m
tca= 126 kN/m
ta= 49 kN/m
n= 0.2 (=27 U — FRAD)
T2pa= 59 kN/A&
Tsa= 101 kN/A
Tlpa= 49 kN/ A&
Tpa= 49 kN/ 7
A= 0.70
Td= 34 kN/#<
S2= 8.9 kN
S3= 19. 2 kN
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